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SRfles VB X8 R B R BN T

B X it & | B | dhtssr | A Bt &y kel sEmdEE] BRME] s | BAS | dbils [mow-vwk) AR | &
Bl owng (EM) 1,376 1,153 1,094 978 471 2,205 943 191 2,144 878 1,241 1,272| 2, 215] ~— 16, 161
(&ah) 1,376/ 1,170] 1,094 978 471 2,205 943 191 2,144 878 1,241 1,272] 2,215 = 16,178
(FEIPY) 8564 A 638 442 420 395 226 879 513 77 1,056 435 498 463 911 — 6, 953
(EIPY) B0 B ERE AL 0 0 0 0 0 0 0 0 0 0 0 0 0 - 0
(FEIPY) ] B A2 5% — - - - - - - - - - - - - 2,628 2,628
(EEIP) 39 A Al 28 4 - - - - - - - - - - - - - 0 0
(EHW) NEE B EHE K 9 2 1 5 0 8 3 0 6 2 2 3 4 = 45
(EHW) &t 647 444 AN 400 226 887 516 17| 1,062 437 500 466 915| 2,628 9,626
(TES) 8564 H AL — 0 - - - - - - - - - - - - 0
(ESh) @Y QR EEE | — 0 - - - - - - - - - - - - 0
(E5) ] B A2 5% — - - - - - - - - - - - - 0 0
(TE41) 39 A Al 28 4 - - - - - - - - - - - - - 0 0
(TESh) REE BEEE - 0 - - - - - - - - - - - - 0
TEAM3 (NGB 1 B ) % — 2 = - - - - - - - - - - - 2
({E4M) Bt 0 2 0 0 0 0 0 0 0 0 0 0 0 0 2
Bowt 647 446 a1 400 226 887 516 17| 1,062 437 500 466 915| 2,628] 9,628
(FEIN) FErE & 2K 729 709 673 578 245 1,318 4217 114/ 1,082 441 741 806/ 1,300f — 6,535
R (=W +7E41) 47.02| 38.12| 38.48| 40.90| 47.98| 40.23| 54.72| 40.31| 49.53| 49.77| 40.29| 36.64| 41.31] — 59. 51
TR (E4H) - 11.76] — - - - - - - - - - - - 11.76
Z| g (EW) 1,316/ 1,087/ 1,131 953 464| 2,222| 1,069 228 2,1M 955| 1,183| 1,218 2,105 ~— 16,102
(&) 1,316/ 1,106/ 1,131 953 464| 2,222 1,069 228| 2,11 965| 1,183] 1,218] 2,105 = 16, 121
(FEIP) %224 B 2 5 615 414 390 333 216 878 537 100( 1,016 447 427 430 848 — 6, 651
(EIPY) B2 B R RE 2K 0 0 0 0 0 0 0 0 0 0 0 0 0 - 0
(FEIP) 1 A A2 5% — - - - - - - - - - - - - 2,654 2,654
(EIP) 391 A Al 2 4 - - - - - - - - - - - - - 0 0
(EWN) TEE B EEHR R 3 1 2 20 2 5 2 1 2 1 1 3 2 = 45
(EHW) &t 618 415 392 353 218 883 539 101 1,018 448 428 433 850 2,654 9,350
(TES1) 13224 B 23 - 0 - - - - - - - - - - - - 0
(TESh) B B RRRE S | — 0 - - - - - - - - - - - - 0
(TES1) 191 A B2 2 - - - - - - - - - - - - - 0 0
(TES1) 9 A Al 2 4 - - - - - - - - - - - - - 0 0
(TESM) NEE BEEE K - 0 - - - - - - - - - - - - 0
TEAM B (AR + BB # % — 2 = - - - - - - - - - - - 2
({ESH) Bt 0 2 0 0 0 0 0 0 0 0 0 0 0 0 2
e 618 417 392 353 218 883 539 101 1,018 448 428 433 850 2,664 9,352
(FEIN) FErE & 3% 698 672 739 600 246) 1,339 530 127 1,153 507 755 785 1,265 — 6, 752
L RS (W +1E54) 46.96| 37.70| 34.66| 37.04| 46.98 39.74| 50.42| 44.30, 46.89| 46.91| 36.18 35.55| 40.38 — 58.01
TR (EAH) - 10.53] — - - - - - - - - - - - 10. 53
i A (EP) 2,692 2,240 2,225 1,931 935| 4,427 2,012 419 4,315 1,833 2,424 2,490 4,320 - 32, 263
(&) 2,692| 2,276] 2,225 1,931 935| 4,427] 2,012 419 4,315 1,833 2,424 2,490 4320, -— 32,299
(EP) B2 B REEE L 1,253 856 810 128 442| 1,757) 1,050 177 2,072 882 925 893 1,759 - 13, 604
(EIP) B2 B R ERE S 0 0 0 0 0 0 0 0 0 0 0 0 0 -— 0
(=) 8 A A 225 4K — - - - - - — — — — — — — 5,282| 5,282
(EEIP) 391 A AR 2 4 = - - - - - - - - - - - - 0 0
(EW) REE B E 12 3 3 25 2 13 5 1 8 3 3 6 6 — 90
(EN) &t 1,265 859 813 753 444| 1,770] 1,085 178| 2,080 885 928 899] 1,765 5,282] 18,976
(TES}) 1324 B 23 — 0 - — — — - - - - - - - - 0
(TES)) B2 B RRERE S| — 0 - - - - - - - - - - - - 0
(TES1) 10 A A B2 # — - — — — — - - - - - - - 0 0
(TES1) 39 A AR 2 4 = - - - - - - - - - - - - 0 0
(TESM) NMEEF B E K - 0 - - - - - - - - - - - - 0
TEAMREE (AR + BT ) 4 - 4 - - - - - - - - - - - - 4
({Es) &t 0 4 0 0 0 0 0 0 0 0 0 0 0 0 4
ok 1,265 863 813 753 444| 1,770] 1,085 178] 2,080 885 928 899| 1,765 5,282] 18 980
(EN) FErEH 2K 1,427 1,381 1,412 1,178 491| 2,657 957 241 2,235 948| 1,496 1,591 2,555 - 13, 2817
Lo (BN +7ESL) 46.99| 37.92| 36.54| 39.00| 47.49| 39.98| 52.44| 42.48| 48.20| 48.28| 38.28| 36.10{ 40.86 - 58.76
s (f£44) — nmny - - - - - - - - - - - - 1. 11




